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| DICTATION

Directions: In this exercise there are ten passages with 150- 200 words in each.
Altogether a passage will be read to you four times. During the first reading, which
will be read at normal speed, listen carefully and try to understand the meaning.
For the second and third readings, the passage will be read sentence by sentence,
or phrase by phrase, with intervals of about 15 seconds. The last reading will be
read at normal speed again for you to check your work. You will then be given 2
minutes to check through your work once more.

Passage 1
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Passage 9




LISTENING COMPREHENSION

In the following sections, you will hear everything ONCE ONLY. Listen carefully and
then answer the questions as directed.
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Directions: In this section there are 50 statements. Listen to each statement
carefully and then choose the best answer to the question, or give a short answer
to the question asked.

g

What does the speaker suggest?

A. You should go to Florida again this year.

B. You should return to California this year.

C. This year you should go to Florida instead of California.

D. This year you should go to California instead of Florida.
What does the speaker mean?

A. | like to play tennis more than | like to jog.

B. I like jogging because it is more fun.

C. In my opinion people should jog and play tennis.

D. Playing tennis is better than jogging according to some people.
Which of the following is true according to the statement?

A. Snow fell on the heating system.

B. Snow had ruined the heating system.

C. The repairman got lost in the snow.

D. Winter came before the heating system was repaired.

What does the statement mean?

A. Sam’s injury prevented him from playing football.

B. Sam got injured in the school game last Sunday.

C. Sam was able to play in the game despite his injury.

D. Sam was unable to play in the game because of his injury.
What do we know from the statement?

A. None of the students passed the test.

B. All the students passed the test.

C. The teacher had thought none of the students could pass the test.
D. The teacher had expected every student to pass the test.
Which of the following statements is true?

A. The school library is always open on Sundays.

B. The school library is closed all day Sunday this week.

C. The librarian opens the library at twelve o’clock on Sundays.
D.

This coming Sunday the library will be open until twelve o’clock.
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What does the news bulletin tell us?



45 Where do you think the speaker is?

Directions: In this section there are altogether 40 short conversations between two
speakers. Listen carefully and then choose the best answer to the question, or give
a short answer to the question asked.

51 What's the probable relationship between the two speakers?

A. Store manager and customer. B. Landlord and tenant.
C. Tourist guide and tourist. D. Hotel clerk and guest.
52 What can we infer from the conversation?
A. Ann has made great progress. B . Ann might have cheated in the exams.
C. Angel would rather sit by herself. D. Angel would like to sit by Ann.
53 What does the man think about the woman’s weight?
A. She is too fat to be healthy. B . She needn’t worry about her weight.
C. She is below average weight. D. She needs treatment for weight loss.
54 What time does the bus leave on Thursday morning?
A. 7:15. B. 7:30. C. 7:45. D. 8:00.
55 What can we conclude about the man?
A. He likes both ties. B. He likes the silk tie.
C. He likes the gray tie. D. He likes neither.

56 What will the man probably do?
A. Post the letter for the woman.

B. Read the newspaper while waiting for her.
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C. Leave alone without waiting for the woman.

D. Help the woman finish the letter.

What is implied in the conversation?

A. The cafeteria is now crowded with people.

B. The cafeteria is not usually so empty.

C. Students prefer cafeteria to library for studying.

D. The cafeteria is just next to the library.

What's the relationship between the man and the woman?

A. The woman is the man’s assistant.

B. The woman is the man’s student.

C. The woman is his assistant’s neighbour.

D. The woman is the man’s neighbour.

What does the woman suggest?

A. The man should attend a school of music.

B. The man should go on with civil engineering.

C. The man should change to electronic telecommunication.
D. The man shouldn’t have switched so often.

Where does this conversation most probably take place?

A. At a police station. B. In a lawyer’s firm.
C. In a courtroom. D. In a hospital.
What time did the two speakers arrange to meet?

A. 8. B. 8:20. C. 8:30. D. 9.
The two speakers might be talking about _

A. a sketch of a painting B . an architectural design

C. moving the air-conditioner D. installing a heating system
The man wants Angela to

A. play with Tim B . go to the concert with him
C. play the piano for him D. compete with Tim in a game
What does the man have to do at the travel agency?

A . Make arrangement for his pet. B . Pick up his passport.

C. Purchase his tickets. D. Work out his travel plan.
Where does the conversation take place?

A. In a school. B. In a bookstore.

C. In a publisher’s office. D. In a library.

What does Laura mean?

A. The students are not in good physical condition.
B . The exercises are not suitable for the whole class.
C. She is afraid of doing the exercises herself.

D. She thinks the P. E. class is a waste of time.
Why is the man surprised?

A . He finds the result hard to believe.

B. He has never expected Alex to win.
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C. He doubts if the woman is telling the truth.

D. He didn’t expect there would be any awards.

What does the woman mean?

A. She wants to see a TV programme.

B . She should review her documents.

C. She wants the man to see it as well.

D. The documentary has been cancelled.
What does the man mean?

A. She’s better at accounting than he is.

B . She is not suitable for accounting.

C. Her interest in accounting is not strong.
D. He has got no interest in accounting either.
What does the man mean?

A. The weather will cool down soon.

B. Swimming is a good sport in summer.
C. The hot weather will continue for weeks.
D. She should stay indoors in hot weather.

What do you think the woman will do?
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Question 133 is based on News Item 23.

133 According to the news item, what is the result of the policy?

Question 134 is based on News Item 24.

134 Where did the Iragi Oil Minister announce that his country would develop oilfields with
its own means?

Question 135 is based on News Item 25.

135 What’s the main idea of the news item?

Questions 136 — 137 are based on News Item 26.

136 What has Pakistan accused the United States of?

Question 138 is based on News Item 27.

138 How did the tragedy happen?

Questions 139 — 140 are based on News Item 28.

139 What's the problem the Ethiopian people are now facing?

Questions 141 — 142 are based on News Item 29.

141 What were the physical features of the robber?



Directions: In this section there are 10 passages. Listen carefully and then choose
the best answer to the question, or give a short answer to the question asked.

Questions 165 — 168 are based on Passage 1.

165 The boy hated school very much because he
A. was never left alone B . had to study by himself
C. was seriously ill D. was not used to school life
166 In the hospital, he .
A. felt very sorry for the other patients
B. was afraid to bother the nurses
C. didn’t notice whether it was night or day
D. found the nurses’ behaviour improper
167 The result of his illness was that he
A. was away from school for a year B . was taught in the school library
C. had some private time for himself D. had to do his homework in bed
168 When the boy was leaving school, the headmaster believed that he would
A. realize how good school life had been B . be unhappy after he left school
C. be thankful for leaving school D. regret his last day at school

Questions 169 — 172 are based on Passage 2.

169 On average, how many more hours per week do the young viewers spend watching TV
than old viewers?
A. 6. B. 9. C. 17. D. 23.
170 According to the passage, .
A. there is no difference between BBC1, BBC2 and ITV
B. BBC1 and BBC2 are similar in their programmes
C. ITV programmes are interrupted by TV commercials
D. BBC1 and BBC2 also have TV commercials

171 Which programme attracts most viewers in Britain?

A. Films. B . Chat shows. C. News bulletins.  D. TV series.
172 1t can be assumed that chat shows are usually
A. before 9 p. m. B. after 10:30 p.m. C. after T a.m. D. before 7 a. m.

Questions 173 —176 are based on Passage 3.

173  What's the percentage of the union workers?

A 11%. B. 20%. C. 45%. D. 49.5%.
174 An example of an industry-based union is

A. the Transport and General Workers’ Union

B . the National Union of Railway-men
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The missile is designed in such a way that once , nothing can be done to retrieve it.
A. fired B . being fired C. they fired D. having fired
, he would not have recovered so quickly.

A. Hadn't he been taken good care of B. Had he not been taken good care of
C. Had not he been taken good care of D. Had he been not taken good care of
You a new bicycle since the one you lost the other day has already been
found.

A. should not buy B. need not buy

C. need not have bought D. should not have bought

It was not until midnight the camping site.

A. that they reached B . that they did not reach

C. did they reach D. did they not reach

It is predicted that existing reserves of fossil fuel by 2045.

A. have been run out B . are going to be run out

C. will have run out D. have run out

Only by increasing its exports drastically from the present trade imbalance.
A. the country can emerge B . the country might emerge

C. can the country emerge D. the country has emerged

Since the mid-1960’s considerable research _ in embryo transplants in many
countries.

A. has carried out B. was carried out

C. carried out D. has been carried out

If the temperature of the reactor 500 degrees higher, meltdown would have
occurred.

A. was B. had been C. was being D. had

The more acid you add to the solution, it becomes.

A. cloudier B . the cloudiest C. more cloudy D. the cloudier
The lecturer said “It’s time you the literature review.”

A. began B . should begin C. begin D. are beginning
After your results, you should make an appointment with your tutor.

A. you receiving B. you have received

C. you would have received D. you received

You the experiment twice, not once.

A. haven’t carried out B . shouldn’t have carried out

C. should have carried out D. might have carried out

It looks ___you’ve made a serious mistake.

A. as B. if C. though D. as though

__the right answer, | would have got full marks in the exam.

A. If | would have known B. If I'll know

C. Had | known D. If I was knowing
_ way you do it, the answer is always the same.

A. However B. Whichever C. Whoever D. Why ever



